Math 111 Cryptography Intro September 30, 2014

: PENGUIN
You find a piece of paper with this picture and the word QFOHVIO on one side, and

the message DBO ZPV LFFQ B TFDSFU? on the other. You also remember seeing a
picture of a monkey with the word NPOLFZ.
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DBO 2PV LFFQ B T§FDSFuU ?
What does the message say? C AN Yon KEEP A SECRE T ?

Can you send back a message that says trust me? @ SVTU NF "
T RUST ME

Later you find another paper. On one side we have these w .
pictures with the words FKHXG IUC. On the other side we have » .J/Jw,/ ﬁ
the message IUSK ZU ZNK HXOJMK GZ TUUT. 3 f) 2y
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What does this message say? lUSK ZU 2NE HXO0TIMEk G2 TUuT
COME TO THE BRIDEE AT Noaon,

What pattern did you notice? Can you find a way to describe the code that doesn’t require the animals?

This is a shift ciphe with A<G.

(Count down s bores 1y encode, or Submvuct six to
clecocle.,'}

Finally, you find another piece of paper. It has this picture on one side with /-D
the word UPUSLORX, and on the other side we see the message ))/ L
PUOYU REZ - XLUC NREZ ZLE CEI OVU. A )

AlEJ1]OJUJB|CID|F|GIH]J[K|LIM[N[P|Q[R]S[T[VvIw[Xx][Y]z
IlolUulA|ElX|Y|2]|8lc|D|Fl6|H|T|lk|LIMIN|PIQR|S|T|V W

What does this message say?

PUoYu REZ - XLuc NREZ 2.€ CEl ovy.
LEAVE NOW - THEY KNow wW+#o You ARE .
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For each of these find the REMAINDER. We do not care about the quotient. You may use any
mathematical method to find the answer.

Example: 26)800 has remainder 20.

Note :
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Encode the following message using a shift cipher with A =4 : LONG DIVISION IS BORING.
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LONG  DivViSion IS BORINC



